
Group: LDW 442

Engine: LDW 442   Drawing: A

INTAKE AND EXHAUST

POS. CODE DESCRIPTION Qty

  1 6780.068 stud M 8 X 18 (30) 2

  2 4820.069 gasket 1

  3 2486.515 ehXaust manifold 1

  4 3240.165 nut  M 8 4

  5 4820.067 eXh.manifold gasket 2

  6 6780.068 stud M 8 X 18 (30) 2

  7 9820.191 screw 2

  8 6927.636 inlet manifold guard 1

  9 2486.502 inlet manifold (plastic type) 1

  9 2486.511 inlet manifold (plastic type) 1

 10 1770.199 screw M 8 X 1,25 X 25 2

 11 4400.092 inl.manifold gasket (plastic type inlet manifold) 2

 11a <------> see Pos. A 11 2

 12 3630.175 clamp diam.52 2

 12 3630.220 clamp diam.50 2

 13 5365.149 connection hose 1

 13 5365.151 connection hose 1

 14 8545.974 bracket 1

 15 1770.160 screw M 8 X 1,25 X 16 2

 16 3700.462 dry air cleaner  4'' 1

 17 2440.421 air filter fiXing belt 1

 18 2175.224 air cleaner cartridge 1

printed by LOMBARDINI:   11/08/2010  -      1



Engine: LDW 442  Drawing: A

printed by LOMBARDINI:   11/08/2010


